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Score Age of Students

18 19 20 21 22
200-250 3 3 2 1 -
250-300 - 2 4 2 2
300-350 3 5 5 2 -
350-400 - 1 2 3 3
400-450 - - 2 4 1
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Year 2009 2010 2011 2012 2013 2014

Price 220 240 242 250 248 244
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Find the coefficient of correlation from the foliowing data.
Score Age of Students
18 18 20 21 22
200-250 3 3 2 1 -
250-300 - 2 4 2 2
300-350 3 5 5 2 -
350-400 - 1 2 3 3
400-450 - - 4 1
State merits and demerits of Rank correlation method.
OR
Find the rank correlation coefficient from the following data’
Marks 60 62 68 70 52 53 66 75 22 48
of
Maths
Marks 65 66 60 80 50 75 45 20 a2 63
of
Account

Define Correlation and explain typésof correlation.

In examination at which €88 candidates appeared, boys outnumbered girls by 16%
of all candidates. Nufmber of passed candidate exceeded the number of failed
candidates by 310BBYs failing in the examination numbered 88. Find coefficient of
association between boys and success in the examination.
Explain proportion method.

Explain Yule’s method.
Differentiate correlation and association of attributes.

OR

Fit a straight line to the following data using least square method and from it
forecast profit for the year 2010

Year 2003 2004 2005 2006 2007 2008 2009
Price 160 350 340 580 770 910 950
Explain method of Forecasting (any four).
OR
Fit a straight line to the following data and from it estimate the production of 2015.
Year 2009 2010 2011 2012 2013 2014
Production | 220 240 242 250 248 244
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{b} Explain Graphical method, method of opinion poll and method of economic modes.

Q.4 (a)  Calculate COR and SDR from the information given below and compare them,

Town A Town B
- - Standard
Age Population | Deaths per | Population | Deaths per Population
{in 1000’s) thousands | {in 1000's) | thousands

0-5 5 45 7 40 10

5-25 40 20 50 18 35

25-50 25 10 30 12 40

Above 50 20 30 13 25 15

{h) Explain Infant Mortality Rate.
OR

Q.4{a) GFRofacityis 52. In the city the number of females per thousands males is 930 and
60% of females are in the child bearing age group. If the total population of the ciiy
is 482500 find the estimate of the number of children likely to be barn in the city in
the next year.

(h) Explain important method of collecting demographic data.

Q.5(a) Define with appropriate example:
i.  Column Matrix
ii.  Triangular Matrix
jil. Diagonal Matrix
iv.  Skew Symmetric Matrix

(b) -2 1 0 NLD
IfA = [ 3 4 -~2] and B = 1—5 2] then, find AB and BA if possible.
1 0 -1 4 7
OR
Q.5{(a) Find A+B, B-A, A-B and A+2B from the following matrices.
0 1 2 s 0 =2
M=ls 5 o B=3 S5
(b) If4 = B i], then find value of 42 + 5A + 21
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